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I Semester B.C.A/B.H.M. & Other Course Degree Examination, May/June - 2022
LANGUAGE SANSKRIT

Sankshépa Ramayana (Balakanda) of Valmiki 1st Sarga Grammar &
Comprehension

(CBCS Scheme NEP Freshers 2021-22 and Onwards)
Paper -1

Time : 25 Hours Maximum Marks : 60
Instructions to Candidates:- 1)  Answer in Sanskrit/ Kannada/ English.

2) Question No.I, V, and VI should be answered
in Sanskrit only.
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Select and write the correct answer.
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Write an essay on any two of the following :
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Write about the Author of Ramayana.
2) IwuTmmEE el el
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-Narrate the story of Aranya Kandam.
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Rama's departure to the forest as depicted in Ramayana of Valmiki.
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Translate and explain any Three shlokas.
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- Annotate any Two of the following.
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" Answer in Sanskrit

g Ry forem) (T=ame)

1)
3)
)
7

W)
Wi
Eil
- {

TER-FER-Te foreml (aguida)

1)
3)
5)
7)

qAq|
eS|
S|
shifesam:

2)
4)
6)
§)

2)
4)
6)
8)

TR

ESEIGY

T =

qeaTty|
G EEIG)(

AECC05.2

(2%3=6)

(5x1=5)
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VL. ufiesghe ufswn svamgoe _ (5%2=10)
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